BHI) =2t 3—I2E T2 R[NP OREIRED B ERER

BIEHER (FE) (BfiL: u Sv./h)
. SHISE Hh A
HlE =
BIE =1 AIE =2 BIERS AE R4 BIE RS
E28%E11A 28 (K) 0.06 0.04 0.06 0.05 0.06
E28%11A 98 (JK) 0.05 0.04 0.06 0.06 0.06
Epk28%E11H816H (k) 0.06 0.04 0.06 0.06 0.06
Ek28411H258 (£) 0.05 0.05 0.06 0.05 0.06
Ek28411H308 (JK) 0.06 0.04 0.06 0.06 0.06
BIER1~4: TEERDE T RER
BIEAS ERMSTELBENT-H G (/NI T SUR)

BT )= I"—0 (RO IZ) IZEFEAR[F OMSTIREDATERER

BIERHER (F91E) (BfL: u Sv.h)
i JAISE Hh
HITE B
HIE =1 AER2 BIE =3 AE R4 BIERS
Tpk284F11AH 48 (&) 0.07 0.07 0.08 0.05 0.06
TEk284E11H10H (K) 0.06 0.07 0.08 0.03 0.05
TEk28F11H17H(K) 0.06 0.07 0.07 0.04 0.05
Ek284FE11H248 (K) 0.07 0.07 0.08 0.06 0.07
BIER1~4: TEER D e IE R
BIEAS RN OTENBENT-H R (VNI TSUR)
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